



Research article

The Gauss sums involving 24-order character and their recursive properties

Juanli Su¹ and Jiafan Zhang^{2,*}

¹ Department of Arts and Sciences, Yangling Vocational and Technical College, Yangling, Shaanxi, 712100, China

² School of Mathematics, Northwest University, Xi'an, Shaanxi, 710127, China

* **Correspondence:** Email: zhangjiafan@stumail.nwu.edu.cn.

Abstract: The main purpose of this paper is to use elementary and analytic methods to study the calculating problem of one kind of Gauss sums and obtain an exact computational formula for it.

Keywords: one kind of Gauss sums; elementary methods; analytic methods; computational formula

Mathematics Subject Classification: 11L05, 11L40

1. Introduction

Let $q > 1$ be an integer. For any Dirichlet character χ modulo q , the classical Gauss sums $G(m, \chi; q)$ is defined as follows (see Section 5 of Chapter 8 in [1]).

$$G(m, \chi; q) = \sum_{a=1}^q \chi(a) e\left(\frac{ma}{q}\right),$$

where m is any integer, $e(y) = e^{2\pi iy}$ and $i^2 = -1$.

For convenience, we write $\tau(\chi) = G(1, \chi; q)$. If χ is a primitive character modulo q or $(m, q) = 1$, then we have (see [1, 2]): $G(m, \chi; q) = \bar{\chi}(m)\tau(\chi)$ and the identity $|\tau(\chi)| = \sqrt{q}$. The study of the classical Gauss sums $G(m, \chi; q)$ has received considerable attention in past decades. For example, B. C. Berndt and R. J. Evans [3] studied the properties of some special Gauss sums, and obtained the following interesting results:

$$\tau^3(\chi_3) + \tau^3(\bar{\chi}_3) = dp, \tag{1.1}$$

where p is a prime with $p \equiv 1 \pmod{3}$, χ_3 is any three-order character modulo p , and d is uniquely determined by $4p = d^2 + 27b^2$ and $d \equiv 1 \pmod{3}$.

L. Chen [4] obtained another identity for the six-order character modulo p . That is, she proved the following conclusion: Let p be a prime with $p \equiv 1 \pmod{6}$, then for any six-order character χ_6 modulo p , we have

$$\tau^3(\chi_6) + \tau^3(\overline{\chi_6}) = \begin{cases} p^{\frac{1}{2}} \cdot (d^2 - 2p), & \text{if } p \equiv 1 \pmod{12}; \\ -i \cdot p^{\frac{1}{2}} \cdot (d^2 - 2p), & \text{if } p \equiv 7 \pmod{12}, \end{cases} \quad (1.2)$$

where d is the same as defined in (1.1).

As an application of (1.2), L. Chen [4] proved the following conclusion: Let p be a prime with $p \equiv 1 \pmod{12}$. Then for any three-order character χ_3 modulo p and integer $n \geq 0$, one has the identity

$$U_n(p) = \frac{\tau^{3n}(\chi_3)}{\tau^{3n}(\overline{\chi_3})} + \frac{\tau^{3n}(\overline{\chi_3})}{\tau^{3n}(\chi_3)} = \left(\frac{d^2 - 2p + 3dbi\sqrt{3}}{2p} \right)^n + \left(\frac{d^2 - 2p - 3dbi\sqrt{3}}{2p} \right)^n;$$

If $p \equiv 7 \pmod{12}$, then one has the identity

$$U_n(p) = i^n \left(\frac{2p - d^2 + \sqrt{8p^2 - 4d^2p + d^4}}{2p} \right)^n + i^n \left(\frac{2p - d^2 - \sqrt{8p^2 - 4d^2p + d^4}}{2p} \right)^n,$$

where d and b are the same as defined in (1.1).

Z. Y. Chen and W. P. Zhang [5] studied the case of the four-order character modulo p , and obtained the following conclusion: Let p be a prime with $p \equiv 1 \pmod{4}$. Then for any four-order character χ_4 modulo p , one has the identity

$$\tau^2(\chi_4) + \tau^2(\overline{\chi_4}) = 2\sqrt{p} \cdot \alpha \quad \text{and} \quad \alpha = \frac{1}{2} \sum_{a=1}^{p-1} \left(\frac{a + \bar{a}}{p} \right), \quad (1.3)$$

where $\left(\frac{*}{p} \right) = \chi_2$ denotes the Legendre's symbol modulo p . It is clear that the constant $\alpha = \alpha(p)$ in (1.3) is closely related to prime p . In fact, we have the expression (For this see Theorem 4–11 in [8])

$$p = \alpha^2 + \beta^2 \equiv \left(\frac{1}{2} \sum_{a=1}^{p-1} \left(\frac{a + \bar{a}}{p} \right) \right)^2 + \left(\frac{1}{2} \sum_{a=1}^{p-1} \left(\frac{a + r\bar{a}}{p} \right) \right)^2, \quad (1.4)$$

where r is any quadratic non-residue modulo p . That is, $\chi_2(r) = -1$.

T. T. Wang and G. H. Chen [6] studied the Gauss sums for 12-order character χ_{12} modulo p , and proved that

$$\frac{\tau^{6n}(\chi_{12})}{\tau^{6n}(\chi_{12}^5)} + \frac{\tau^{6n}(\overline{\chi_{12}})}{\tau^{6n}(\overline{\chi_{12}^5})} = \left(\frac{\delta + \sqrt{\delta^2 - 4}}{2} \right)^n + \left(\frac{\delta - \sqrt{\delta^2 - 4}}{2} \right)^n,$$

where $p \equiv 1 \pmod{12}$, $\delta = \frac{2p^2 - 4pd^2 + d^4}{p^2}$, and d is the same as in (1.1).

Some other results related to various Gauss sums and their recursion properties can also be found in [7, 9–15], see the Gauss sums for 8-order character modulo p in [7, 12] for instance. The main result considered in this paper is motivated by these references.

The main purpose of this paper is to consider the computational problem of the Gauss sums for 24-order character modulo p . To be exact, for any prime p with $p \equiv 1 \pmod{24}$, let χ_3, χ_8 be a three-order and eight-order character modulo p , respectively. For any integer $n \geq 0$, we write

$$A_n(p) = \frac{\tau^{4n}(\overline{\chi}_8\chi_3)}{\tau^{4n}(\chi_8\chi_3)} + \frac{\tau^{4n}(\chi_8\chi_3)}{\tau^{4n}(\overline{\chi}_8\chi_3)} = \frac{\tau^{4n}(\overline{\chi}_8\overline{\chi}_3)}{\tau^{4n}(\chi_8\overline{\chi}_3)} + \frac{\tau^{4n}(\chi_8\overline{\chi}_3)}{\tau^{4n}(\overline{\chi}_8\overline{\chi}_3)}. \quad (1.5)$$

Our goal is to give an exact computational formula for (1.5).

As far as this problem is concerned, no one has studied it, at least we have not seen any related results in the related literature.

In this paper, we will use the analytic methods and the properties of the classical Gauss sums to give an exact computational formulas for (1.5). That is, we shall prove the following:

Theorem. Let p be an odd prime with $p \equiv 1 \pmod{24}$. Then for any integer $n \geq 0$, we have the identity

$$\begin{aligned} A_n(p) &= \left(\frac{2\alpha^2 - p + 2\alpha\beta i}{p} \right)^n + \left(\frac{2\alpha^2 - p - 2\alpha\beta i}{p} \right)^n \\ &= \left(\frac{\alpha^2 - \beta^2 + 2\alpha\beta i}{p} \right)^n + \left(\frac{\alpha^2 - \beta^2 - 2\alpha\beta i}{p} \right)^n, \end{aligned}$$

where α and β are the same as defined as in (1.3) and (1.4), and $i^2 = -1$.

From this theorem we may immediately deduce the following:

Corollary. Let p be an odd prime with $p \equiv 1 \pmod{24}$, χ_8 be any eight-order character and χ_3 be any three-order character modulo p . Then we have the identity

$$\frac{\tau^4(\overline{\chi}_8\chi_3)}{\tau^4(\chi_8\chi_3)} = \frac{\alpha^2 - \beta^2}{p} \pm \frac{2\alpha\beta}{p} \cdot i.$$

Some notes. In fact, the sequence $A_n(p)$ satisfies the second-order linear recurrence formula:

$$A_{n+1}(p) = \frac{2(\alpha^2 - \beta^2)}{p} \cdot A_n(p) - A_{n-1}(p), \quad n \geq 1$$

with the initial values $A_0(p) = 2$ and $A_1(p) = \frac{2(\alpha^2 - \beta^2)}{p}$.

For general positive integer k , let p be a prime with $p \equiv 1 \pmod{3 \cdot 2^k}$, then for integer $n \geq 0$, whether there exists an exact computational formula for the sums

$$B_n(p) = \frac{\tau^{4n}(\overline{\chi}_{2^k}\chi_3)}{\tau^{4n}(\chi_{2^k}\chi_3)} + \frac{\tau^{4n}(\chi_{2^k}\chi_3)}{\tau^{4n}(\overline{\chi}_{2^k}\chi_3)} ?$$

where χ_{2^k} is a 2^k -order character modulo p , χ_3 is a three-order character modulo p .

This is an open problem. It remains to be further studied.

Of course, how to determine the plus or minus signs in the corollary is also a meaningful problem. Interested readers may consider it.

Notation. Before proceeding, we fixed some notation used throughout the paper. p is always reserved for a prime number. We use χ, χ_k to denote any non-principal character of modulo p and the k -order character of modulo p , respectively. $\tau(\chi) = G(1, \chi; q)$ means the classical Gauss sum, and $\tau^h(\chi)$ denotes $(\tau(\chi))^h$. As is usual, we abbreviate $e^{2\pi iy}$ to $e(y)$, where $i^2 = -1$.

2. Several lemmas

In this section, we give several simple but necessary lemmas. Many of the statement in this section are standard, and the readers can refer to many classical monographs, such as [1, 2, 8].

Lemma 1. Let p be an odd prime. Then for any non-principal character χ modulo p , we have the identity

$$\tau(\bar{\chi}^2) = \frac{\bar{\chi}^2(2)\chi_2(-1)\bar{\chi}(-1) \cdot \tau(\chi_2) \cdot \tau(\bar{\chi}\chi_2)}{\tau(\chi)}.$$

Proof. From the properties of the classical Gauss sums we infer

$$\begin{aligned} \sum_{a=0}^{p-1} \chi(a^2 - 1) &= \sum_{a=0}^{p-1} \chi((a+1)^2 - 1) = \sum_{a=1}^{p-1} \chi(a)\chi(a+2) \\ &= \frac{1}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b) \sum_{a=1}^{p-1} \chi(a) e\left(\frac{b(a+2)}{p}\right) = \frac{\tau(\chi)}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b)\bar{\chi}(b) e\left(\frac{2b}{p}\right) \\ &= \frac{\tau(\chi)}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}^2(b) e\left(\frac{2b}{p}\right) = \frac{\chi^2(2) \cdot \tau(\chi) \cdot \tau(\bar{\chi}^2)}{\tau(\bar{\chi})}. \end{aligned} \quad (2.1)$$

On the other hand, for any integer b with $(b, p) = 1$, note that the identity

$$\sum_{a=0}^{p-1} e\left(\frac{ba^2}{p}\right) = 1 + \sum_{a=1}^{p-1} (1 + \chi_2(a)) e\left(\frac{ba}{p}\right) = \sum_{a=1}^{p-1} \chi_2(a) e\left(\frac{ba}{p}\right) = \chi_2(b) \cdot \tau(\chi_2),$$

we also have

$$\begin{aligned} \sum_{a=0}^{p-1} \chi(a^2 - 1) &= \frac{1}{\tau(\bar{\chi})} \sum_{a=0}^{p-1} \sum_{b=1}^{p-1} \bar{\chi}(b) e\left(\frac{b(a^2 - 1)}{p}\right) \\ &= \frac{1}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b) e\left(\frac{-b}{p}\right) \sum_{a=0}^{p-1} e\left(\frac{ba^2}{p}\right) = \frac{\tau(\chi_2)}{\tau(\bar{\chi})} \sum_{b=1}^{p-1} \bar{\chi}(b)\chi_2(b) e\left(\frac{-b}{p}\right) \\ &= \frac{\chi_2(-1)\bar{\chi}(-1)\tau(\chi_2) \cdot \tau(\bar{\chi}\chi_2)}{\tau(\bar{\chi})}. \end{aligned} \quad (2.2)$$

Formulas (2.1) and (2.2) yield

$$\tau(\bar{\chi}^2) = \frac{\bar{\chi}^2(2)\chi_2(-1)\bar{\chi}(-1) \cdot \tau(\chi_2) \cdot \tau(\bar{\chi}\chi_2)}{\tau(\chi)}.$$

This proves Lemma 1.

Lemma 2. Let p be an odd prime with $p \equiv 1 \pmod{8}$. Then for any eight-order character χ_8 modulo p , we have the identity

$$\frac{\tau^4(\chi_8^3)}{\tau^4(\chi_8)} + \frac{\tau^4(\chi_8)}{\tau^4(\chi_8^3)} = \frac{2(2\alpha^2 - p)}{p} = \frac{2(\alpha^2 - \beta^2)}{p},$$

where α is the same as defined as in (1.3).

Proof. Taking $\chi = \chi_8$ in Lemma 1, note that $\bar{\chi}_8\chi_2 = \chi_8^3$, $\tau(\chi_8)\tau(\bar{\chi}_8) = \bar{\chi}_8(-1) \cdot p$ and $\tau(\chi_2) = \sqrt{p}$, from Lemma 1 we derive that

$$\tau(\bar{\chi}_4) = \frac{\bar{\chi}_4(2)\bar{\chi}_8(-1) \cdot \sqrt{p} \cdot \tau(\chi_8^3)}{\tau(\chi_8)} \quad (2.3)$$

and

$$\tau(\chi_4) = \frac{\chi_4(2)\chi_8(-1) \cdot \sqrt{p} \cdot \tau(\bar{\chi}_8^3)}{\tau(\bar{\chi}_8)} = \frac{\chi_4(2)\chi_8(-1) \cdot \sqrt{p} \cdot \tau(\chi_8)}{\tau(\chi_8^3)}. \quad (2.4)$$

Combining formulae (1.3), (2.3) and (2.4), we obtain

$$\begin{aligned} p^2 \cdot \left(\frac{\tau^4(\chi_8^3)}{\tau^4(\chi_8)} + \frac{\tau^4(\chi_8)}{\tau^4(\chi_8^3)} \right) &= \tau^4(\chi_4) + \tau^4(\bar{\chi}_4) \\ &= \left(\tau^2(\chi_4) + \tau^2(\bar{\chi}_4) \right)^2 - 2p^2 = 4p\alpha^2 - 2p^2, \end{aligned}$$

which completes the proof readily in view of $\tau^2(\chi_4) \cdot \tau^2(\bar{\chi}_4) = p^2$.

Lemma 3. Let p be an odd prime with $p \equiv 1 \pmod{3}$. Then for any character χ modulo p , we have the identity

$$\tau(\chi^3) = \frac{1}{p} \cdot \chi^3(3) \cdot \tau(\chi) \cdot \tau(\chi\chi_3) \cdot \tau(\chi\bar{\chi}_3),$$

where χ_3 is a three-order character modulo p .

Proof. For this see [16, 17]. The general result can also be found in [18].

Lemma 4. Let p be a prime with $p \equiv 1 \pmod{24}$, χ_8 be any eight-order character and χ_3 be any three-order character modulo p . Then we have the identity

$$\frac{\tau^4(\bar{\chi}_8\chi_3)}{\tau^4(\chi_8\chi_3)} + \frac{\tau^4(\chi_8\chi_3)}{\tau^4(\bar{\chi}_8\chi_3)} = \frac{2(2\alpha^2 - p)}{p} = \frac{2(\alpha^2 - \beta^2)}{p}.$$

Proof. We consider $\chi = \chi_8$ in Lemma 3, so that

$$\tau(\chi_8^3) = \frac{\chi_8^3(3)}{p} \cdot \tau(\chi_8) \cdot \tau(\chi_8\bar{\chi}_3) \cdot \tau(\chi_8\chi_3). \quad (2.5)$$

We can derive by adjusting both sides of the equation above that

$$\frac{\tau^4(\chi_8^3)}{\tau^4(\chi_8)} = \frac{\tau^4(\chi_8\chi_3)}{\tau^4(\bar{\chi}_8\chi_3)} \quad (2.6)$$

and

$$\frac{\tau^4(\chi_8)}{\tau^4(\chi_8^3)} = \frac{\tau^4(\bar{\chi}_8\chi_3)}{\tau^4(\chi_8\chi_3)}. \quad (2.7)$$

These two formulae follow by noting that $\tau(\chi_8\bar{\chi}_3)\tau(\bar{\chi}_8\chi_3) = \bar{\chi}_8(-1) \cdot p$ and $\chi_2(3) = 1$.

Combining (2.6), (2.7) and Lemma 2 we can get

$$\frac{\tau^4(\bar{\chi}_8\chi_3)}{\tau^4(\chi_8\chi_3)} + \frac{\tau^4(\chi_8\chi_3)}{\tau^4(\bar{\chi}_8\chi_3)} = \frac{\tau^4(\chi_8^3)}{\tau^4(\chi_8)} + \frac{\tau^4(\chi_8)}{\tau^4(\chi_8^3)} = \frac{2(2\alpha^2 - p)}{p} = \frac{2(\alpha^2 - \beta^2)}{p}.$$

This completes the proof of Lemma 4.

3. Proof of the theorem

In this section we will use the lemmas from Section 2 to prove the theorem. From Lemma 4 we know that $A_0(p) = 2$ and $A_1(p) = \frac{2(2\alpha^2 - p)}{p}$. If $n \geq 1$, then from the definition of $A_n(p)$ we have the identity

$$\begin{aligned} A_1(p) \cdot A_n(p) &= \left(\frac{\tau^4(\bar{\chi}_8\chi_3)}{\tau^4(\chi_8\chi_3)} + \frac{\tau^4(\chi_8\chi_3)}{\tau^4(\bar{\chi}_8\chi_3)} \right) \cdot \left(\frac{\tau^{4n}(\bar{\chi}_8\chi_3)}{\tau^{4n}(\chi_8\chi_3)} + \frac{\tau^{4n}(\chi_8\chi_3)}{\tau^{4n}(\bar{\chi}_8\chi_3)} \right) \\ &= \frac{\tau^{4(n+1)}(\bar{\chi}_8\chi_3)}{\tau^{4(n+1)}(\chi_8\chi_3)} + \frac{\tau^{4(n+1)}(\chi_8\chi_3)}{\tau^{4(n+1)}(\bar{\chi}_8\chi_3)} + \frac{\tau^{4(n-1)}(\chi_8\chi_3)}{\tau^{4(n-1)}(\bar{\chi}_8\chi_3)} + \frac{\tau^{4(n-1)}(\bar{\chi}_8\chi_3)}{\tau^{4(n-1)}(\chi_8\chi_3)} \\ &= A_{n+1}(p) + A_{n-1}(p) \end{aligned}$$

or

$$A_{n+1}(p) = \frac{2 \cdot (2\alpha^2 - p)}{p} \cdot A_n(p) - A_{n-1}(p), \quad n \geq 1. \quad (3.1)$$

Let x_1 and x_2 be two roots of the equation $x^2 - \frac{2(2\alpha^2 - p)}{p} \cdot x + 1 = 0$. Then from (1.4) we obtain

$$x_1 = \frac{2\alpha^2 - p + 2\alpha\beta i}{p}, \quad x_2 = \frac{2\alpha^2 - p - 2\alpha\beta i}{p},$$

where α and β are the same as defined as in (1.3) and (1.4), and $i^2 = -1$.

From (3.1) and the properties of the second order linear recursive sequence we derive that

$$A_n(p) = \left(\frac{2\alpha^2 - p + 2\alpha\beta i}{p} \right)^n + \left(\frac{2\alpha^2 - p - 2\alpha\beta i}{p} \right)^n, \quad n \geq 0.$$

Note that $p = \alpha^2 + \beta^2$, this completes the proof of our theorem.

4. Conclusions

The main result of this paper is the theorem, an exact computational formula for one kind of Gauss sums is obtained. The result is not only closely related to the second order linear recursive sequence, but also makes a new contribution to the research in related fields.

Acknowledgments

We would like to thank the reviewers for their helpful and detailed comments. Sincere thanks are also due to Professor Wenpeng Zhang for his kind suggestions. This work is supported by the N. S. F. (12126357) of P. R. China and Natural Science Project ZK20-89, Yangling Vocational and Technical College.

Conflict of interest

The authors declare that there are no conflicts of interest regarding the publication of this paper.

References

1. T. M. Apostol, *Introduction to Analytic Number Theory*, New York: Springer-Verlag, 1976.
2. K. Ireland, M. Rosen, *A classical introduction to modern number theory*, New York: Springer-Verlag, 1982. <https://doi.org/10.1007/978-1-4757-1779-2>
3. B. C. Berndt, R. J. Evans, The determination of Gauss sums, *B. Am. Math. Soc.*, **5** (1981), 107–128. <https://doi.org/10.1049/ip-i-1.1981.0031>
4. L. Chen, On the classical Gauss sums and their some properties, *Symmetry*, **10** (2018), 625.
5. Z. Y. Chen, W. P. Zhang, On the fourth-order linear recurrence formula related to classical Gauss sums, *Open Math.*, **15** (2017), 1251–1255. <https://doi.org/10.1515/math-2017-0104>
6. T. T. Wang, G. H. Chen, A note on the classical Gauss sums, *Mathematics*, **6** (2018), 313.
7. H. Bai, J. Y. Hu, On the classical Gauss sums and the recursive properties, *Adv. Differ. Equ-Ny.*, **2018** (2018), 387. <https://doi.org/10.17992/ibl.2018.09.194>
8. W. P. Zhang, H. L. Li, *Elementary Number Theory*, Xi'an: Shaanxi Normal University Press, 2013.
9. L. Chen, Z. Y. Chen, Some new hybrid power mean formulae of trigonometric sums, *Adv. Differ. Equ-Ny.*, **2020** (2020), 220.
10. L. Chen, J. Y. Hu, A linear recurrence formula involving cubic Gauss sums and Kloosterman sums, *Acta Math. Sin.*, (Chinese Series), **61** (2018), 67–72. <https://doi.org/10.9785/mdtr-2018-0203>
11. S. Chowla, J. Cowles, M. Cowles, On the number of zeros of diagonal cubic forms, *J. Number Theory*, **9** (1977), 502–506. <https://doi.org/10.1007/BF01528799>
12. W. P. Zhang, A. Samad, Z. Y. Chen, New Identities Dealing with Gauss Sums, *Symmetry*, **12** (2020), 1416.
13. W. P. Zhang, J. Y. Hu, The number of solutions of the diagonal cubic congruence equation mod p , *Math. Rep.*, **20** (2018), 70–76. <https://doi.org/10.2118/0318-0076-JPT>
14. W. P. Zhang, The fourth power mean of the generalized quartic Gauss sums, *Journal of Shaanxi Normal University* (Natural Science Edition), **49** (2021), 1–5.
15. T. T. Wang, On the fourth power mean of the generalized two-term exponential sums, *Journal of Shaanxi Normal University* (Natural Science Edition), **49** (2021), 6–12.

-
16. J. Greene, D. Stanton, The triplication formula for Gauss sums, *Aequationes Math.*, **30** (1986), 143–141. <https://doi.org/10.1137/1130012>
 17. W. Duke, H. Iwaniec, A relation between cubic exponential and Kloosterman sums, *Contemporary Math.*, **145** (1993), 255–258. https://doi.org/10.1007/978-3-322-93140-5_19
 18. H. Davenport, H. Hasse, Die Nullstellen der Kongruenz zeta funktionen in gewissen zyklischen Fällen, *J. Reine Angew. Math.*, **172** (1934), 151–182. <https://doi.org/10.1038/scientificamerican1034-172>



AIMS Press

© 2022 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)